www,C i

www.Padasalai.Net

——
L

Reg. No.J

FIRST MID-TERM TEST - 2022 |~
ESS MATHEMATICS & STATISTICS
Maximum Marks: 50

XII - BUSIN
Time Allowed : 1:30 Hrs.
PART -1I
Note i) Answer all the questions )
ji)  Choose the most appropriat answer from the 'ven four alte;rg!;;v:;o)
and write the option code and the corresponding answer:
1. Rankofa null matrix is
a0 b) -1 C) o d)1
5. Which of the following is not an elementary transformation?
a) R, @R, b) Ri—+2Ri+2Cj
o R, = 2R, —4R; d) c, - C, +5C;
A B
3. If T= A[0.7 0.3 3 transition probability matrix, then the value of X is
B/0.6 Xx
a)0.2 b) 0.3 c) 0.4 Ad) 0.7
4. 1 p(A)=p(A B), then the system is
a) Consistent and has infinitely many solutions : b) Consistent and has ’a unique solution |
c) Inconsistent d) Consistent
(2 0 | ' - , i
5 1A= | 0 8 then p(A) is a)0 b) 1 c)
- -2
! 3. -1 -——1 +cC d) —= ¢
6. J;—dx is a) ;-2-+C b) —2;2-+c c) 3x? ) "
2x
7. [ dxis
4+ X
2x’
. lO y 7Y + ¢
PP | -7 7 d) ;,l
g 5\[’1“ “ X is a) 142 b) li C) ii) |2
3 Jt.m » dx 1S a)log 2 b) 0 C) log J:Z d) 2 log 2
. 3
a) Jn b) \/)n 0 s d) 5

b [XU “7‘_39-7Mdlhs -1
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PART - 11

Answer any five questions. Question Number 17 js compulsory. (5x2=10)

-5 -7
Find the rank of the matrix ( 5 7 )

11.
12. Solve by Cramer's Rule 5x + 3y = 17, 3x+7y=31
13. Show that the equations 2x +Y = 5, 4x + 2y = 10 are consistent and solve them.
14, T F(x)=8x- 2x and (2) = 8 then find f(x)
dx
15. Evaluate: Ig_ Tox?
16. Evaluate: [xe'dx
17. Evaluate : ,(Si" x dx
PART - III
Answer any five questions. Question no. 24 is compulsory. (5x3=15)
1 2 -1 3 '

18. Find the rank of the matrix 2.4 1 —3

19. The Total cost of 11 pencils and 3 erasers is Y64 and the total cost of 8 pencils and 3
erasers is Z49. Find the cost of each pencil and each eraser by Cramer’s rule. '

20. Parithiis either sad (S) or happy (H) each day. If he is happy in one day, he is sad on the next
day by four times out of five. If he is sad on one day, he is happy on the next day by two times
out of three. Over a long run, what are the chances that Parithi is happy on any given day?

. . ' /
21. FindK, if the equations x +y+2z =7, x+ 2y + 3z= 18, y +kz =6 are inconsistent.
f 3x? +6x+1 '
22. Evaluate: (x+3) (x_z +1)
. .
Tx+3, if 1<x<3
23. + |f(x)dx - ’
Evaluate I (x)dx where f(x) {gx Y gy
2
24. Evaluate : Idl +cosx dx
0

Answer all the questions,
25.

Kindly send me your study materi

21 2x -
b.  Evaluate : Ic Lx._,—de

a. Two types of soaps A and B aré

PART - IV

a. SolvebyCramersrule: x+y+2=6, 2x+3y-z=5, 6x-2y-3z=-7
(OR)
I

in the market. Their present market shares are 15% for
A and 85% for B. Of those who bought A the previous year, 65% continue to buy it again
while 35% switch over to B. Of those who bought B the previous year, 55% buy it again
and 45% switch over to A. Find their market shares after one year and when is the

equilibrium reached? (OR)
dx
b. Evaluate : j'_u* o
. | /.K
. a.  Evaluate : I-jx -5 = d (OR)

b. Evaluate : the integral as the imit of g sym ' |, xdx

X1l By Maths -2
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XII - aianfldd HanflHiDd wHID L]eTrerflugl 16D

Qurgs wuCusirser : 50

Cpyuw : 1-30 1p6vf]

UGS - 1

GMuy: 1) YYD S S AT E S 6158 G aflsoL weaflé&ajLb.

ii) Qar@ésuuL Garsr wrpgy L safie) AEas goymLw aloLous

CsiAs0586 GPILOL 8T AL ey CErsg TySal. (10.)(1=10)
1. uwodu gefllen o
a)0 b) -1 N R d)1 o ,
2. Yemeumeussreupled 6151 €M senfllsaner gl 2 (HTDDL SHpSTSI
~a) Ry oR, | b) R, 2R, +2C;
o R, 2R -4R; d) C, > C, +5C,
A B '
3. T=A 0.7 0.3 sremLg) DS Bapey sjenfl eefled X a1 LI
‘ Bl 0.6 x Py
a)0.2 b) 0.3 c)0.4 )0.

4. p(A) # p(A, B) erefler Qgm@LILTENTS - N
a) Q@HSsML 2 eLWS LHDID as&nmﬂém'awﬁ)g) .gna.qa,m QupmueTen Sl
b)  gmusmoe 2 emLwug wHpd §CT @G Siay GUDDIETMSI
)  @Ous®L JDDS
d) emhsmwWe 2 LW

2 0
5. A= (0 8} sefled p(A) a)0 b) 1 c)2 d)n

1 . = -1 -1 =2
6. '[Fdx e WEHILE eTTy Q) F+C b) 2—X2—+c c) ;;2—+c d) 2 +c

2%’ . 3
7. I : dx et wlyE smmy

4+ % 3
a) log|4+x4‘+c b) %log’4+x“|+c c)%log|4fx4|+'c d) log PR +c
1
4 2, . 1 \ =7 . 7 :_1
8. J[ (1-x) 6 oy a) T b) B )5 d 3
3
9. [anxdx e wBiy a)log 2 b) 0 | c)logy2 d)2log2
r{3) oo A PV OF
10. 115 61 &Ly a) Jn b) = 2n 3
uGd - 11

I gCsgui gig elamssenses alewwefl, gferm 61600 17-8& &L rmw
oL wellss CoenBis, | (5x2=10)

-5 -7
11. [ 5 7J steop enflullen sr5Hemens snes,
12. &Cywfen aﬁlﬁmwﬂ vweru® 54 Siss. Sx + 3y = 17, 3x+7y=31 .
13. 2x+y =5, 4x + 2y = 10 g Aw swemUT &6 BRSO 2 enLwgl ereflev

SUDONG SiéHs. e
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14. f(x) = 8% - 2x wpgud f(2) = 8 e1erfled f(X) - o0 5 s etras.
15. wHIIGS. [ =

16. wLHAIIDOS. _[.\c‘dx

n

17. wdod@s. |sinxdx

UGS - III
oI ¢Csgyw 5 elemssers® el wef. eflamr sem 24-6@ &L Lrwib
v wefllss GCaiawr(Bw. ' , (5x3=15)

2 -1 3)
# ol o2 aetip yewfluflest FTSMSE Snevers.

‘\3 6 3 -7,

(1
‘ﬂ

18.

18. 11 Quendlsvast wHmib 3 gfiiursnsefler Corgs elener T64. Cueb 8 CueTAeos6T
wHmid 3gPfliiursnseflen Qurggellenso I49. HCrwfen elfepwl LwGTLOSS @
Quendled LHDIL @M HPlILTeT elenevens Siews.

20. ufd a6t eubleunh BrEHb GerawraGeun (S) evevg wWHlPFHwnaGeun (H) o_erermi.
em Bret LAPsALTs QMBSTO, HDS5S Brer 5-60 4 LkE Corswrs oL, ®
prer Genawrs PmBSTR, HOS5S Hren 3-0 2 uki@ wHPsAwrs Pmuuni eeafle,
B anen gyglinenulled gGsraug @@ GO L Brefled wpsdwns Qmuugpaer
BHapssea sneaus. ' A

21. sruul L swetLTH&N @HhasmLe yDDeme safled K 6 wdliy srems.
X+y+z=7 x+2y+3z2=18,-y+kz=6

3x? +6x+1

22. HIEES. jm

(7x+3, 1<x<3 O _
23. f(x) = )'!\Sx  3xx<é eTexflev IJ‘f(x)dx o HIIBS.
;
24. wHUSNDS. j‘\/1+cosx dx
: ' ugd - IV .
V. gwmensg alonnésensew aleni wel. (3x5=15)
25. g. &gmofll eldlug Siss.

X+y+z=6, 2x+3y-z= 5, 6x-2y-3z=7 (@ LT-))

N ) 2x -1 d

oy wHOIGS. [ G |
2  siemaulle eeren A wHDID BEmesenswnen Gandq&aﬂcﬁu gg')(:'unmgtu agmgg
26 ZZ@% 15% wppib 85% SpGW. Csen (B A eummudlweuiaefleo 65‘?/0 GL_{IT
BB S8 DbS Pl auniy@Aprisen. 35% Gui B 6@ mnﬂsﬁ@eﬁ.!mgnmn.
Qsenp ::a;m@ B eurmdwesisefled 55% Gui @b C%Glﬁn‘@. 5 6vut () D DS
eun @& DN gen. 45% A &6® wrdledHEpriset. éﬁ;‘m@“@l-' lﬁ]'D@_ &f“mﬂf‘“
Cugub shensuler swBlensy eiGurgl eLru@w.

sy Lnd([Heenens &0 60015

(060 &)
. dx
& wELSbs. Jz'xj. ~6n_B
27. & wHLIBs. j'\/; ‘?/\’/(7“;41)( (060 @)

aueTunss Qgremau_m— @0 Snl_ L6060 61606560 616U18 Qa&newur(H)

QgremslBassnen LHUSNHS. ', xdx

12 - cuenfls senfl. - 2
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. b 5: 23
Voxn = Fist mid Gegwn - TﬁC-M Dt (202 )
Busiess matis
D - A X = ZA) .":)
\’ ask ~X S ? t:jg
@?‘)e oK. KQL,X:;ﬁ H = .—/&i = Z_b- = 4
. (a? 0 3. AX=8
. : AN
2. ® RL: DR+ 2G (9’ 2‘>(‘\>» (,?
3. (> 04 4 Ve
B (> )
4. ¢ Tnconsishent (A (4 2 10
= | £ Rl
‘ > QC) 2 ~ ( ©o o0 gf‘\l’ RQ_"Q‘R\
—
6. b 272 A C

o = | andl (A‘B>t\
70 & L leglasatlac e '
Y SemBs €L LN

| 8-(4) _1_7 »‘qm%\f% A%Rm\w Con&’;S\el\\:
, 12 L0 .
| 5 and Son mx-lm\d*k Y”\C”“@M

9, (@ (9, \\ m . (%>

0. by NI | o /) \°
2 - = 24y oy

Paxe - T Lo y=x, KeR. Vi

o MoK & b A :mx*—*,zC?-K)' FRUARA
1. e [—5 7
Ha o ( 5 7 Jaxe 4, S\C'X) = 8%x°— ax
e |72 7Y -
l&l‘» L:; 77 = —25485" S Sendx s o) = 2htac
=0 % PMFZ =8 g-28=c
Now , A:@)w :>("q\:7 Eﬂftl\_ cr -9

2. A= \5 ; \ . 25-q=2b70 DS = 20 ol 0

: 3 7 15 l o

17 32 e ne-12E 25 17 L aw = x2
Ax= 7 3N N L=
512104 e A
Ay \® <59 = fb% S¥YAx
y \3 3\ \ =4 \?Aq\
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b, S %Gq At u=2
- \'\\\'— ("){
— uy- v av= etdd
. -
A oAy N ¢ ©
- K. K_\\3\'\1
' X
— )t‘ﬁ*__’ Ve ._{ C
= X x-nAc
: (“/3 = \ 92
\7. 3 .. L
T ocWxdxys [~ cos | Tt(,,r \>
N2 €T =
l = | T s =0 RN
o ~“l®3*-5" b (S H) (; ?"5:\ (s ®)
5 s

= (B

Pare -0 Threo wenk &gA

Ig. A= | 2 -\ 3
| (2 4 \-9_>
N3 6 5 7
~ 6 o 3—8>
1 2 -\ 'z‘>
~J 3 e
2 Oo 6 -/ Re™ Ro2R
| 2 -\ 3
~ ( 6 o0 B —\*8)
o6 o0 O O
f(a) =2
VR 64
| g + 2§ =49
| A
\ &= \ 8 z\”o‘%o

L8+ Awn=S
L (-0 w s \~Hb
H"\*‘E‘ MQ-T
2\,
v V) % 4
(\ 2 3} &*:bt \Cé)
o\ K 'F
\ v ) 7
o \ K b
v Y V7
~ ( o 9\—{“ |
o \
RoR 2Ry
R%—%Rg"’”{‘,
< v VT )
e v 2
© -
2
°° R R Ry

SRIDE IR

K-2 =0 Cl> K> 2

e .
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('XH\('DL-;\) X4 e ) y
‘ 2% (@)
;
AQ « (O
- | 0 b —2 -2
= (,03[ RO 4 \
- A”at JETEL SN Ax = \C’g ‘3 -1 \': -3
L Jre 25 -3
Q35 v 6 )
S}W)cﬁu— j(72+3)d1+58x dot 6~7 =
\ | vV b
Az = ‘2% 2 \= -9
"( +5x> 6 —o =7
12 4bs —3) . Ax -—'532) =)
- - — WA T 2
B s '\‘q e * ) ) 3 = :ﬁé =2
T AT =322
= 62 Ar =99 -3
Z-—'T —— —_33
24 T
_ 25Ck)
T = S \l—‘,\./CES?AD( Qv\(l‘l*\)&l
A*
-\
- S \{/3}2': Ao - Ljezﬂla(%a* ~5 dx
y ﬂ A
'Ub_ ﬁ da
LGl s dx SENY: 0% | o fon) 45 7]
o . « i i c
g% . ge e T+
= Ve | —1
Z /6 _ L e .{_C,
: M)
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